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te(ave)=
tec({ave)=
tc(ave)=
tc(ave)=

tc(ave)=

tecl{ave)=
tc(ave)=
tc(ave)=
tc(ave)=
tc(ave) =
tc{ave)=
tc(ave)=
tc(ave)=
tc(ave) =
tc(ave)=
te(ave) =
telave)=
te(ave)=
tc(ave)=
te(ave)=

3.09578e~15
3.7300%e-15
4.09417e-15
3.71832e~15
3.60026e~15
3.60114e-15
3.54526e~15
3.81408e~-15
3.8686%e-15
3.67939%e-15
3.61377e-15
3.61539%e-15
3.53864e-15
3.53717e~15
3.48233e~15
3.54259%e-15
3.49138e-15
3.42495e-15
3.43126e~15
3.35721e-15
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exroxrs=
errox=
erroxr=
error==:
erroxr=
exrroxr=
error=
error=
errors=
erxor=
errox=
erxror=
erroxs=
erroxn=
errors
exrors=
error=
errox=
error=
erxor=

~7.12651e-02
0.119028
0.228252
0.115496
8.00773e~-02
8.03421e-02
6.35790e~02
0.144224
0.160607
0.103818
8.41306e~-02
8.46180e-02
6.15906e-02
6.11501e~02
4.46979e-02
6.27758e-02
4.74153e~02
2.74841e~02
2.93787e~02
7.16171e-03
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